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QUESTION 1

In a PIM Sparse Mode (PIM-SM) based multicast topology, what function does the Rendezvous Point provide?
A. The node is used to provide IGMP snooping across a layer 3 boundary.

B. The root node of the source tree topology is used to provide routing between the source and receiver.

C. The root node of the shared tree topology is used to provide routing between the source and receiver.

D. The node is used to provide IGMP snooping on a layer 2 shared segment.

Correct Answer: C

QUESTION 2

What benefit does VRRP version 3 provide over VRRP version 2 in 0S10?
A. Provides preemption capability.

B. Provides MD5 authentication.

C. Allows subsecond timers.

D. Allows multiple masters in the topology.

Correct Answer: C

QUESTION 3

When creating an alias in OS10 what is the maximum number of variable input parameters that can be defined?
A.6

B.9

C.3

D.12

Correct Answer: B

Reference: https://topics-cdn.dell.com/pdf/networking-s5148f-on_connectivity-guide4_en-us.pdf page 51

QUESTION 4

Two OS10 switches reside within a VLT domain with statically configured primary-priorities. The current primary peer,
switch OS10-A, has a priority of 100, while the secondary peer, 0S10-B, has a priority of 200.
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If OS10-A reboots and comes back online, what roles will the VLT peers be assigned?
A. OS10-A will be primary and OS10-B will be secondary.

B. OS10-A will be secondary and OS10-B will be master.

C. 0S10-A will be standby and OS10-B will be primary.

D. OS10-A will be secondary and OS10-B will be primary.

Correct Answer: D

QUESTION 5

What is a feature of virtual routing and forwarding (VRF)?

A. Provides trunks that can be grouped to provide optimum speed.

B. Allows multiple user groups to co-exist within the same router at the same time.

C. Allows different physical switches to operate as one.

D. Allows multiple instances of routing tables to co-exist within the same router at the same time.

Correct Answer: D
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